Lecture 4
In this lecture, we will talk about:

Derivational morphemes i)

Inflectional morphemes< <!

Inflection Vs. Derivation
Inflection and derivation are :

manifestations_AUs of affixation (prefixes and suffixes).

Derivational morphemes:

Can be prefixes or suffixes.

Create one lexeme from another.

Example:

compute > comput-er > comput-er-ize >
computer-iz-ation.

Examples:

(Der. morpheme) + Root + (Der. morpheme) ---->
result in:

1- a new word with a new meaning (a change in

meaning):
Root ----> Der-+ Root ---->(new meaning)
E.g.  happy ---> un-happy

connect ----> dis-connect

correct ----> in-correct

2- A change in the grammatical class; i.e. the part of

(B) Inflectional morphemes:

creates the form of a lexeme

that is right for a sentence:

Examples:

Inf. morphemes create:

- the plural form of a noun (door-s).

- the past tense form of a verb (start-ed).

- 3rd person singular form of a verb (he start-s).

a 'paradigm’:—w ya5

The group of inflected words formed with a
particular lexeme
(e.g. child, children
'word form': iz
Each specific item in a paradigm

above examples, inflectional morphemes :
e do not change the meaning of a word,

/ drive, drives, driven)

speech/syntactic category

(e.g. a nouns becomes an Adj.)
For instance:
- Noun + Der. morpheme ----- > Adj.

E.g. boy +ish  --——-- > boyish
- Verb + Der. morphem-------- > Noun
E.g. clear + ance ------—--- > clearance
- Adj. + Der. morpheme --------- > Adverb

E.g. Exact+ly - > exactly
derivation produces: new lexemes (new
meanings).

e they have a grammatical function in sentence.
e never change part of speech/syntactic category
start with a noun, for instance, and finish up with a
noun.

For example:
Inflectional morphemes: -s, -ed
He sail-s (V.). He sail-ed (V.).

inflection produces forms of lexemes,




Summary of criteria for distinguishing derivation and inflection:

- 1Derivational

2- Derivation

3- Inflection is

morphemes Change the

may change the syntactic

last thing to added before

meaning of a word.

category of word

word is inserted into sentence.

e.g. happy ------ > un-happy

cheer (N) cheer-ful (Adj.)
cheer-ful-ness (N)

inflectional morphemes are
typically on the edge of the

While inflection morphemes do

while inflection preserves

not change meaning
(e.g.express agreement:
e.g. theysing / shesing-s.

word (i.e. 'outside' derivation),

“loss or addition of inflectional
feature like :

number, or tense would be a major
upheaval (disturbance) in a language.

“inflection tends to be an obligatory
convention which is adhered to
because of grammatical requirements.

the category EX: oganiz-ation-al
cat  (N) -------- >cat-s (N) - In this word,
write (V) --------- > writ-e(V) all suffixes are derivational,

cannot say which one is closer
to the root.
Black-en-ed
derivational suffix -en
is closer to the root than the

inflectional suffix -ed.

cannot have *Black-ed-en.
compare also:
pig-let-s  vs.

*pig-s-let.

4- English inflection is expressed by suffixes only
and never expressed by prefixes.
EX. heplay-s ten apple-s  she play-ed
English derivation is expressed by suffixes

and prefixes.

EX. True --------- > un-true
help -------- > help-ful

in English, prefixes are always derivational
While suffixes can be:

Derivational: constitut-ion-al-ity
V--->N--->Adj.--->N
Inflectional cat ---->cat-s  (same lexeme)

5- Inflection uses a closed set of affixes.

set of inflectional affixes will be considerably smaller
than set of derivational affixes.

That is:

NOT generally possible to add a new inflectional affix
to language or to take one away.

Not wake up one morning + start using in English a
dual marker as found in Arabic or Greek.

Neither ignore singular/plural distinction.

possible, to suddenly start using a new derivational
affix, as is shown by success of forms in ‘-nomics’
over recent years

E.g. Clint-nomics ---> from Clinton
Reaga-nomics ---> from Reagan
Thatcher-nomics --->from Thatcher
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Inflection

Derivation

Does not change meaning: produces word-forms of a single
lexeme

Aseneall il el Bada JISH) I8 1 el yaaas Y

Changes meaning: produces new lexemes from
old lexemes

L e L - U REVCEN LI L N | IO

Preserves syntactic category

Ay panlh Asall  le dndlas

Changes syntactic category

A gl AZall e

is expressed by suffixes only.

Adsll jal 8 dadd gl olll Alaid g lgie yaes

is expressed by suffixes and prefixes

Gl ol g roal gl Adail g2 lgie el

involves few wvariables (a closed system).

(22me-laa all) <l peiell e (BB 2ae el

may involve many variables (an open system).

(T 5o plin) Sl piiell Gpe el Seasas o2

further from the root than derivation

ASETaYL A5 JEe ALISN B g e Al

closer to the root than inflection

Al ye Wl Cpe A5 ylE. ALIEN LaaT s GE)

Practice

- Analyze the following words into morphemes, indicating which of these morphemes are

derivational and which are inflectional.

Learners learn-er-s

I

Desirable desir-able (Der.)
Disliked dis (Der.)-like-d (Inf.)
Loosen loose-n (Der.)
Stupidity stupid-ity (Der.)

More practice:

broaden - width - socialist - falsehood - closure
straighten - clockwise — vaccinate - gangster

warmth hopeless- twofold - trial - accidental — selfish
advisory - likelihood — friendless —idealist - kingdom

:gL(Dlér..‘): changes syntactic category o

boyish —various - stepwise - thankless — global historic — penniless- disclose- begins- wanted-

desks.

Broaden (Der) — width(Der) - socialist (Der)- falsehood - closure
straighten - clockwise — vaccinate - gangster
warmth hopeless- twofold - trial - accidental — selfish

advisory - likelihood - friendless —idealist - kingdom

boyish —various - stepwise - thankless — global historic — penniless- disclose- begins(Inf)- wanted(Inf)-

desks(Inf).




Lecture 5
In this lecture, we will talk about:

Content words
Words are divided into two categories:

Function/grammatical words

(1) Content Words
- Content words are open class words (new
words are being added in every language).

2-Grammatical (Function) Words
Function words are closed class words.

1) Content Words:

are words that have meaning refer to objects, events
and abstract concepts.

They are words we would look up in a dictionary, such as
“lamp," "computer,” "drove."

Content words are marked as being:

characteristic of particular social, ethnic, and regional
dialects and of particular contexts.

¢ siaall cilals

Galaal ¢ alual 1 judy Jiee cllia CilalS;
33 > palia

Jie a8l A Lgie Siay ad GLalS o g
" Lamp " " computer " " drove "

ol 5 Ao adine Gilagd (ailad (e
O Bl (5 sina 5 (ana

For example, how do you say ‘a car’ in the following
dialects of Arabic:
o Egyptian dialect: 4x,c o Saudi dialect; 3w

Felll " 5l "Gk (as; Jie
992, gl Anglll 5 2y yucadll

New content words Old content words

constantly added to the English language
& Dl aiuly s GlalS agl) bt jaaall (g giaall lalS
FRAREN A

(outdated).

constantly leave language as they become obsolete

Al Al 8 ) ety aie SlalS( e Jad)el i wmdll 5 giaal) cilalS

Therefore, we refer to content words:

as an "open" class.- Nouns, verbs, adjectives, and adverbs are content parts

of speech.
- - Content words include: s¢<«Example

- Nouns John, room, answer, table
Adjectives happy, new, large, grey

- Full verbs search, grow, hold, have

- Adverbs really, completely , slowly
Numerals one, thousand, first

- Interjections | eh, ugh, phew, well

yes/no answers yes, no (as answers)

GlalS ) i Lila elia
slafi)aa gide 43S (5 ginal)
(0 iy Bypaa SlalS Ll
9 Glaal) (i celaw)

A NN SRS EN(
em\ & Fina




- (2)Grammatical (Function) Words

- Function words: words that exist to explain
or create grammatical or structural
relationships into which the content words
may fit.

- They are often best defined by their function.
- Words like "of," "the," "to," they" have little
meaning on their own.

- Such function words are much fewer in
number and gene rally do not change
(English adds and omits content words, not
function words).

- Therefore, we refer to function words as a
"closed" class.

- A person cannot easily invent a new
function word; e.g. a new preposition or
conjunction.

il Ak gl
GlEe Ly o Lea il LISl 2 ga g oo Audula o) cilalsl)
G sinall e i () 5S5 8 LS 8 A0S ol 3 gas

Ll s 3y 5k oo Led iy Jumdl 58 Le Llle

3 e Sl "of " "the," "to," they" Jis Il
Logas saaall i L8 8 oo dih o)) LS b <)
Gl 8 (s ginall S b ity g Ciliay) il Y g
(5 D Al o) LK) Laigae 4 3ulasY)

Oy Al 2l o Al Sl il el o el
JGOPNN

P e s AalSt il 5 S0l A sgan (s Y (S Y
s ol 5 gh s jall Gaa

Now, look at the following: ki I Jull:

Egypt
in the

the spring

- Like many people, the first time you see the
graphic above, you read ‘Egypt in the spring’.

bl JBal 3 AUEI 8 ks J gl ¢ ulill o L0 Jie
‘Egypt in the spring’.leie! i a & a5

- Look again: it reads ‘Egypt in the the
spring’.

- Here, your expectation of one definite article
(the) affects your perception of the existence
of two definite articles.

- The trick does not work if we write ‘Egypt
Egypt in the spring’ or ‘Egypt in the spring
spring’ (i.e. repeating the content words).

- The key is to repeat a function word
because we tend to take words like ‘the’ for
granted.

- Note that: if we took the function words out
of speech, it would be hard to figure out what
was going on.

Sull JEL Ledaadl o g laill sale) e
spring’.the the Egypt in
Cudd the 3aal 5 cay =i sl Slllia o) (e clilad g
Cay i) 31a1) W s g L ali GS) ol e L
o «the (

d}.\MJ‘)S.\L\J.\L\SJ.\DdA’JYC«M\ j\a.clij\alh
(wlals)

Egypt Egypt in the spring’ or

‘Egypt in the spring spring’

s ) Jas LY Al gl el sale ) s ~ Lkl
Al & 5 yae al the Jie ClalS

Bay

0S4l caldadl) (pe dals o) LIS LAR) 1A ¢
o e pe caall e




Example: can you guess what the following structure means:
**took function words speech hard figure what going on.’

- yes, it means the first sentence above:

**f we took the function words out of speech, it would be
hard to figure out what was going on.’

- But it was difficult to understand it:

because we removed all the function words that show the
relationships between words.

- Pronouns, prepositions, conjunctions, determiners,
demonstratives (e.g. this, those),

certain adverbs (e.g. very & not)

certain verbs (those with little or no meaning; e.g. be, must or
should)

are some function parts of speech.

- Function words include: ag

Examples
Prepositions of, at, in, without, by, between
Pronouns he, they, anybody, it, one
Conjunctions and, when, while, although, or
Modal verbs may, must, should, can, must, ought, need, etc.
Auxiliary verbs | Be (am, is, are), have, do
Particles no (e.g. no one) not, nor, as

Differences
- Note: The same lexical item can function as either content or
function word, depending on its function in an utterance.

AU Alaall (e iy Le (s liSay Ja

Aaadl) A dleal) iad le (udl A caad
5 Ay

La (S Leagd Q%U

A Adla o) LKl S Lgia L) LY
) S (s A8Sall Ul g
c.k,\\)ﬂ\ ‘qu\});j\ Q}chw\
this, those Jie ol il s claasall
Uy very&not JisY) e
be, must or should J=&V!
ol ol Ja) (g o8 028 S

U s s ) A o8 Ll o

Example 1: | | have come to see you "have" is a function word | (auxiliary verb)
| have three apples "have" is a content word (full verb)

Example 2: | One has one's principles | "one" is a function word pronoun
| have one apple "one" is a content numeral

Example 2: | | have no more money "no" is a function word (a negative particle)
No, | am not coming "no" is a content word (Yes/No answer)




Practice (1):
- Identify each of the following words as a function or content word, and give the reason:
Tall adjective-content word dream verb- content word
go verb- content word

stream verb- content word

your pronoun-function word happily adverb — content word

and conjunction- function word is (in: ‘he is playing’) auxiliary word- function word
but conjunction- function word

Practice (2):

- Classify the underlined words in the following passage into content VS function words:
‘Sara Ferguson stared out the window of the café. She could not stop thinking about her dad.
She was living at home with him, attending college full time. Last night her dad was
complaining of chest pain. It really scared her. She had never thought about losing him. Sara
was four when her mom died. Her dad had always been there for her. Now she could not stop
worrying. He was only 49. She needed him.’

More practice:
- Classify the words in the following passages into content VS function words:
‘Sara watched people go in and out of the shoe store across the street. It reminded her of
when she was a little girl. Sara started working when she was 10 yrs old. Every Saturday, she
walked to work with her dad. He owned a shoe shop in Los Angeles. Sara liked hanging out
with her dad.’

‘She also enjoyed helping the customers pick out shoes. Her dad paid $1.50 for every pair of
shoes she sold. The most money she ever made in one day was $15.00. Sara’s dad taught her
how to budget her money carefully. Each week, she wrote down how many pairs of shoes she
sold. She counted all her money. Then Sara put 75% in a savings account that her dad opened
for her. She kept 25% to spend.’




Lecture 6
Lexicon and Productivity

Lexicon: - A lexicon refers to the inventory (list) of lexical items, seen as part of a native speaker’s
knowledge of his or her language
Lll) VARD) A1) 48 jal (ga o 3a 43 e (955l 13a I 5l canaall jealial) Ga( Al )y s sl N anaall yuidy
(Y
Thus is the mental dictionary that language users must be equipped with, in addition to the
lexicon grammatical rules of their language.
ARG g yall By pail) s i) ) ALYl Al (peddins g Seae 058 O i Sl aaxe 58 ) lexicon (s
For English speakers know that the word ‘subject’ can be used as a verb and as a noun,
example, depending on the way we pronounce each.
o alaie VU anl & 5 JaiS Lealadind (Saall (10 ) subject (AalS of ala 4 ulai¥) 2alll sl (JUall Jaw e
aa lelagia IS 3l 33, )

Not all words one speaker knows are also known by other speakers

Thus, the mental dictionary (lexicon) of one speaker is never
completely identical to any other speaker’'s mental lexicon.

OS5 Lty (A Sl S ) s malls G
oA Ofiaaie ol Liayl 485 y2e

Giday ¥ aal g Giaate gl sl anaall ¢ Jlilly
SBY) e Al Guasia gl sl Jaal) anadll Lalad

The lexicon contains more than words
example, affixes, such as ‘-er’ can be assumed to be in lexicon

Gl 3 yma (eSS u,ua.u) lexicon (L;s;d\ f;.aa..d\
Sl e er Jin ) affixes (G180 Ul Jaws e
(lind) aneall (0 55 Gl Lgaal 8l

- Speakers know and understand such affixes and readily attach
them to new forms.

Complex language forms (e.g. affixed inflected forms like
‘talk-s, go-es, etc.’) are also included in the lexicon.

example, a speaker of English must know the third person
singular of verbs (e.g. talk-s, go-es, say-s, speak-s, play-s,
etc.) because it does not follow the normal rules of English

Lelial A seus 5 Bal slll 02gr Al 05 ale o () siaaial)
Aa g5 el Kl

oo IS 7 Jie; anl) aoeall A21) & 5amal) JISEY)
e oAl N go-es s : tlak-s AUl Adlal aay Jadll
Aaladl ae ) gl i W LY Jlad¥) (pe CIEN 0 jiall (adilly
A ) dxll

Consider also a famous complex word (used in Irish political
discussion in the mid-nineteenth century):
‘anti-dis-establish-ment-ari-an-ism’

pieces of word together do not tell much about its meaning
(opposition to denying special state recognition of a particular
religion).

L) 8 a2 ) )5 gl Badaall AalSl) Lial Jals
(e aulall ¢l Canatia 8 Aunil 1Y) dpuand)
- o) a) o2a Al Lae Y a5 LIS (4 Laline

If you are a speaker of English who happen to know and use his
word, then it must be stored in your lexicon. because its
meaning cannot straightforwardly~iius =3 be determined from
the meaning of its parts.

iy Al i) 2 iyl Bl iaate e i 1
(2 el V) fpedaad o) (Sa Y g’_.IL’.AM O Jaa ol

L Aale JSG

In sum, the lexicon includes all the linguistic forms: (regular,
irregular, simple, complex, normal, not normal, etc.) that
speakers know and use.- As long as such forms are used,
they must be stored in the mental dictionary (the lexicon)..

Neologism : 4adl syaa

- When a word that does not exist in the lexicon is created
through a morphological rule, we call it: neclogism.

Example: e-mailer
- If this neologism is used once and never again, we call it;
occasionalism.

Led pm AU 4 galll QKGN S Jady il aseall: Ladad)
L e 9 3 sl ) Aalll olSia Lgadiiing

g_é 3.\);..4 U}SJ u\ [EREN} L@.ﬁ\ﬁ CJLA.J\ Y ?\Ja.u.u\ e:u LALH(
Sl aaall ) the lexicon (i) s saldll

5acls A (e s 5olall (8 Ll 255 Y Al o) oy Loie
By 4kdl neologism lele ki ¢ Cajuall

8 Al 3y aadiid "el)sa;\)sf;gag\:&m\ 138 aladinl a3 13)
occasionalismaxa s lale Gl )




Productivity

- Aproductive | rule is the one we can use frequently to form new words.
Baas ClalS Qi) ) Sia (K8 Lgaladiind LiSey sacld a7 Aalily) 3ac @)

- Some affixes are often used to: paind Lo Llle 3al U1 jamy
create new words, whereas others are less often used, & AY) Gl alasial J85 cpa A cbaaa SlalS # LY
or not used at all for this purpose. ALY e (ampall 3] aadid ¥l el e IS
- The property of an affix to be used to: a2t (3al Sl ilSlias
coin (invent) new complex words is referred to as the Al an) o Lell Ly 5 3aaa Batea AalS( IS JAlaaS
productivity of that affix. 43l e3gdproductivity

CASliaall o3a Cllics 3al ol JS
- Not all affixes possess this property to : ALY e elliad Y ClEa ) (e ddajall adhy
the same degree, some affixes do not possess it at all. Qe A dadd Lgiilal (Sa leng-th & WS th 43U JUdl
example, suffix ‘-th’ (as in leng-th) ol S lal (S connot o815 S (e 23 J48
can only attach to small number of specified words, Ac geaall elli Cald 3 jle
but cannot attach to any other words beyond that set. (0Say Ml
- This suffix can: .unproductiveiaiia e 28l sda el
therefore be considered unproductive. 1o el s e (S A Balsl) o s
- Even among affixes that can in principle be: Gl ol Gy lia o) sam s GlalS LY dlaaS aadius
used to coin new words, there seem to be some that are Lo e (e daall i)
more productive than others.

example, the suffix ‘-ness’ (as cute-ness) gives rise to many more new words than,
for example, the suffix ‘-ish’ (as in fool-ish): ‘happiness, sadness, homelessness, ..... etc.”

-ness -ize -mis -ee -eer -al -th  -ter
—
Goodness globalize misrepresent invitee profiteer refusal warmth laughter

More productive less productive

- We can think of the degree of productivity of suffixes and prefixes according to the following

shape:
dlle 4alil) e Juasd | b slaNL- The more you go towards the left, you get more productive affixes
AL 4als) Lo Juasd Uiy olaNL- The more you go towards the right, you get less productive affixes




Blocking

blocking is | the phenomenon whereby the existence of a word with a particular meaning
inhibits the morphological derivation of another word with precisely that meaning.
&o A ARl puall L) aiey Ly pald (Jire pe AalSll 25 ) a5l 8 blocking sl
L Galdaall el
Example: JUa
- ‘Cutter’ Ll (anndll paiall 8 (e 4 saaar ‘Cutter’
is blocked by the existence of the lexical item ‘knife’ ‘knife’

- That is, people do not normally refer to the tool that they
use to cut things as ‘cutter’ (from the verb ‘cut’) since there is
already another word that gives that meaning; i.e. ‘knife’.
In the same way:

- The ‘day after today’

is blocked by the existence of the lexical item ‘tomorrow.’
- The ‘day before today’ is blocked by the existence of the
lexical item ‘yesterday.’

- ‘This day’is blocked by the existence of the lexical item
‘today’, unless in a particular context like in the sentence:
1 remember this day when | met him°

L seaiing A B J sale el Y Gulalle Ul
Y ‘out’ (Jadll (e ) abaldll L) e e LaaV) adaidl
O G knife’ s A AalS ellia Ll

saall 13 Calac)

Al hall (el

(eaxe o da s e wails ‘day after today’
‘tomorrow.’s»

Wi e yaiiaThe ‘day before today’
‘yesterday.’ss ax2a

‘today’ saaze 2 3525 e paBiaThis day’
(i dlaall (e Cpma Bl A Y

‘I remember this day when | met him’
‘thief' . s ez 2 aa s o ai'stealer’

- ‘stealer’ is blocked by the existence of ‘thief’.




Lecture 7

Morphological rules

s pall el 68

1. Compounding- S il 4l Ciliay Las

- It is the combination of two or more free morphemes. Sh o) ) adyse (e SISl s
)

Examples: (ﬁ AV Al 8 S ) () a3l

Girlfriend, chalk dust, undergrowth, blackbird, offload, seasick. Gradia Q0 45 53 (5SS

- Note that English compounds may be written separately

Types of compounding

A) Endocentric Compounds: endocentric <lusS 55 &y il
compound is an instance of entity, activity or property denoted by last constituent (component/part).

(c)a/)sa.m )&_IS)A s Al dad) g alShiad) o) caldalill e Ja c(dﬁ}l\)()\:\ﬂ\ O C.J}A.\ 52 S yall

Houseboat is a type of ----------- > boat (head) 'Y
Boathouse is a type of ----------- > house (head) /0
A person who is seasick is ----------- > sick (head) o/

right-hand constituent (last constituent) in endocentric compounds is the head.
the element that determines semantic and grammatical characteristics of whole compound
(091 oY) peaindl by jliicly slad¥l i 2als Lila endocentric compounds <l it of JaaY,
S e S A4 il Gailiadl) g AVA 2aay jeaiall o) ¢ -
(=0 )l A 2 endocentric compounds & i sxi) (S jall e e a3 ) ¢ Jall o sSi-

Examples: | [N N] ---> N: coffee table, telephone table, dinner table, chess table, word stress,

. strawberry jam, silkworm, diesel motor, bookshelf, etc

[V N] ----> N: crybaby, filing cabinet, reading class, writing table, drinking water, etc.

[AN] ----> N: blackbird, redbrick, wetsuit, greenhouse

[Preposition N] | outhouse, outgrowth, undergrowth, offprint

-> N:

[N A] --> A: bloodthirsty, pain-free, theory-neutral, colorblind, class-specific,
sky-blue
- Note that: endocentric compounds always take the same inflection as
the right-hand element (the head):

[A N] ---> N: e.g. greenhouse[[green]A [house]N] ------- >N

- Greenhouse is a type of house.
- The compound is a noun because house is a noun and its plural is greenhouses because houses
is the plural of house.

house.d x> s houses oY is greenhouses s geall 5 aul 58 house oY aul s S il




(B) Exocentric Compounds: exocentric compounds

the compound does not refer to an entity denoted by either constituent (component).
(raind) )l peaiadl Aand g3 Jay s GLSI () s ¥ S all (L

- Examples
a ‘paleface’is not a type of face,
but a person who has a (pale face).

all (BABe aa g YV ) Jesface gl s (eg sl I el Y paleface «Soall ¢ i s JGal) 13a 3 Ls

More examples of Exocentric compounds :

[N NJ -->N: Paleface, redskin, redneck, highbrow (serious), bigfoot

[V N] ----> N :pickpocket, spoilsport, killjoy, answerphone (Australian term for ‘answering
machine")

[V Particle] --> N: | handout, putdown, sit-in, walkout, breakdown, fallout

[P N] --> N: afterbirth, afternoon, underground

- Note that: do not necessarily have a constituent with the same syntactic category as

exocentric that of the whole compound.

compounds ‘sit-in’is a noun, but does not contain a noun.

o2 A il ) Ll ae 5S35 pally il @xocentric compounds LS e ddaadla
e ssing Y 4l and 58, ‘Sit-in’ SIS

- (C) Copulative Compounds:

- - Here, both constituents refer to the entity denoted by the whole compound.
S JalS A gy SN 1 (il sSall) paliall S clia

- An owner-builder ---> [ is both: ‘an owner’ of a house and ‘its builder’
Examples: | [N N] ----> N: producer-director, singer-songwriter owner-builder,
maidservant
[A A] ------ > A: | (rare):bittersweet, deaf-mute

(2) Affixation: done before (see relevant lecture).

(3) Base Modification: sseld Luellf

- Here, we change the phonology of the base segmentally and suprasegmentally:
segmentally and suprasegmentally\ae! &l (o Gl pa¥) ale i Lils (Lia

(A) Segmentally:

(B) Suprasegmentally

i.e. changing a sound
Mouth /maue/ noun
Mouth /maud / verb
Change: voiceless fricative  to voiced fricative.
- Sometimes,the modification takes place along with affixation
(e.g. adding the plural morpheme s) like in:
wife — wives.
Gl JUdll dlsS s aeall ad ) e dilial Jiw affixation <llay) e sy Joaxil)
- Modification can also take place in relation to a vowel sound:
Al Cag oy 48Mal) e Caaay () Sy Jpandl
Mouse — mice foot -- feet

- This happens in English
through ‘stress.’
A (e Ay 3alasV) Al 6 Gaasy 138
(© gl 308 Yariall
EX. 'Contact (noun)
il AN J ¥ &5 A
Con'tact (verb) Lixl/ 4 ¢ _jall AL/
Y Jed

(4) No Change of Form:

- Some words that have inflectional or derivational relationships, keep the same form.
IS i e Jailas LgiS) A8 5l Ayl el A8Me L) il joany

Fish (sing.) fish (plural) Fish (noun) to fish (verb)

Hard (Adj. ) hard (Adv.)

Clean (Adj. ) to clean (verb)

A- Zero Inflection: ¥ &aad juad ol e | B- Zero Derivation (Conversion): ¥ &aad juas Alail)




(5) Base Shortening: st swtwall jLaidy/—

Jsissale)A- Backformation daladll 5l jalaBYIB- Clipping
- Is a word-formation process in which a shorten a word without changing its meaning or its part
word of one type (usually a noun) is of speech.
reduced to form another word of a different | - This occurs, for example, when a word of more than
type (usually a verb). one syllable (e.g. telephone) is reduced to a shorter
(Ll 5SS Ledale )aals ¢ 58 e dlS JSE40le 58 | form (phone), often in casual speech.
OsSE Ledale )alita g 53 (0 AalS ) JREN sl Sadll e e a gl Sall (B et o) jal G en AS) jatids
(Sad | e SIS e S8 A ALK jlaial o Laxie cJUall dass e Gaany 138
Edit (V) from editor (N) =l Qadll Jillle phone J) =S telephone Jis ghis
Televise from | Television Examples :
Donate from | Donation Polio Poliomyelitis Fan. Fanatic
Opt from Option Lab. Laboratory Sitcom. Situation
Enthuse from | Enthusiasm Cab. Cabriolet Comedy
Ad. Advertisement | Exam. Examination
Prof. Professor
- Names as well are sometimes clipped by English
speakers as in:
AL i) U8 e Glal) Gy (el jeaiad SIS clasY)
A sl
Sam. from Samuel
Tom. Thomas Rick. Richard

(6) Alphabet Based Formations: 4uasy/ sliyy cdbsdil

A- Blending z <

- Here, we merge two words by taking only the beginning of one word and joining it to the end of
the other word.

AV ALK Ales ) Lgaai g gaal g AalS Ayl AT JIA (e (pialS madi (s lia

Examples:

Stagflation = stagnation + inflation | Bit = binary+ digit
Slanguage = slang + language Brunch = breakfast + lunch
Motel = motor + hotel Smog = smoke + fog

- To refer to the mixing of
languages: i ) LAl & el
Spanglish = Spanish + English
Franglais = French + English
B- Acronyms <l _paisall
- They are words that are coined from the initial letters of words in a name, title or phrase.
- Typically, acronyms are pronounced as single words

35 P Y0 PSSR PO [ WG DN ([P R PN O 3 PO g RGN DN gy

Bas) 5 AalS & S e (I gY) Capal) Gl ol ke

Example:

CD = compact disk

VCR = | video cassette recorder

ATM = | automatic teller machine

Radar = | radio detecting and ranging

PIN = personal identification number

AIDS = | acquired immunity deficiency syndrome.

Laser = | light amplification of stimulated emission of radiation




Lecture 8
What is syntax? L s S 5 fileall
Predicate
FINITENESS vs. NON-FINITENESS

What is syntax? L s S 5 $alaall
- As mentioned earlier in this course, linguistics has different branches, including, phonetics and
phonology, semantics, pragmatics, sociolinguistics, syntax, morphology, etc.
- In the last classes, we studied Morphology.
- In this class and the next ones, we will be concerned with the study of syntax.

Lo lain¥) il galll 5 dlee ) 5l AVA ale 5 ol ) ale il suall Sl b Lay cAdlida ¢ 5 58 Led il salll ) il ,S3 LS
Alaall oLy A Wigh Cagu ¢ u gl 02 4 Morphology—s yall ale Ui )3 o jaW¥) (g pall 8o AT ) e pall 5 saill

syntax
Syntax - (originally Greek) = ‘putting together’/ ‘arrangement’.
Syntaxd&.ﬂ\ \A@UMW@@JJW}&AY\ :\:\.\Ll}.\L;A
Syntax is a branch of linguistics that studies how the words of a language can be combined to

make larger units, such as phrases, clauses, and sentences.
S  Cilan g 8 el Aalll 8 S G aeadl AS Gy 3 Gl salll ¢ 558 e g 8 8 Syntax dleal) oy
Jaall 5 Sall 5l jlal) Jia

- Thus, when we concentrate on the structure & ordering of components within a sentence =

studying the syntax of a language
ARl 6 dlead) oLy Al o = 138 G jarilead) Jals b oSl i yis S e 58 i) wie o L

- Now, let us consider the following sentences: ol (815 ¢ adll S il daaaa Jaall 022
This egg loves elephants. (el A i e ) Sra sl L
The sandwich ate the boy.

- These sentences are all instances of correct syntactic structure.
But they are nonsensical

| (unacceptable in meaning).

- Syntax is primarily concerned with whether a sentence is
"properly put together" rather than whether it is meaningful, or silly or bizarre.
What sentences actually mean is the primary concern of
At o) Addis e 13 S 1Y) L il sy s JSE Cimen Alead) il 13 Lo JsY1 el 8 Sigy Syntax Aleall oS 5
JsY¥ aladdl 8 semantics. AVl 4 Ligd e sa a8l gl 8 Jaall a5 13l
- More examples of non-sense sentences with clear syntax:
- Colorless green ideas sleep at night.
- A verb drank the milk.
- | gave the question an angry egg.
- All these sentences are said to be syntactically acceptable, but semantically unacceptable.
Lisal A giia pe LSl b gan Al piie Ll Lgie J o () LSy Al 020 S
deldll agle st o) Jedll 25 s Jeld e dlaall g sinilatale s Jeldl alad L e jdg 3l 5 pallPredicate

.- As mentioned above, in syntax we

— Ahmed loves Pizza Jbs 4ilzé s Jeldll aClause
5% clause s»» Ahmed loves ¢ Jsii Lia

concentrate on the structure & ordering of
components within a sentence.

- Sentences are

characterized by words that share a structure
and form a single expression.

- Linguists often divide a sentence/clause into
two main parts: the subject and the predicate.
- The predicate:

expresses an event in the clause and typically
centers on a verb, but it includes as well any
phrases modifying the verb (e.g. an object or
any phrase selected by the verb)

dSw e 385 syntax dleall (S 5 o) Wle U S WS
Alead) Jals il sSall i

s Sy S i A Al Al LSl Caa 65 o Jasldl
_JA\}

DO Cpand )53l ol Alead) 5oan e Llle ARl cldle

Dy deld
Sonlesiles clause 38 & Soa e (s diwdl) jal)
3kl (8 Jadll Jiaed (gl QXS Jady 4S5 ¢ Jadll e




- A sentence(s) is a combination of a:Noun Phrase (NP) and a Verb Phrase (VP).

The NP Subject The VP Predicate

Example
- Susan called Paul.
Susan = subject NP

Called Paul = VP: Predicate headed by the predicator
call.

- One parameter for classifying languages is to consider
the unmarked (Normal) order of the elements of a
sentence.

- With the guiding factor being the position of the predicate
(VP) in the simple declarative clause/sentence of the
language in question

- He bought a car.

He = Subject NP

Bought a car = VP: Predicate headed by the
predicator Bought

eall (asi i pualiog alaia ¥ ga 2alll Casiead Jal o (g 2al g
Al aaal

[ gl Al 5 ) 6 Lmam ga ()5S el g sl e e
Al 42l (50 Alaal

<Ll 84l s 5 Thus, languages are either said to be:
(a) SOV (i.e. subject + object + verb) ; e.g. Japanese

(b) SVO (i.e. subject + verb + object) ; e.g. English

(c) VSO (i.e. verb + subject + object) ; e.g. Arabic

- Notice that a sentence can be a simple sentence; i.e.
a sentence that contains just one clause; therefore, has
just one predicate.

Examples

English: Mary bought a book. SVO

Arabic: < i s ke LES VSO

s sind Alaall o) (gl Uaps Aan 585 O (Kap dlaall o) BaaY
i Ll &8 MUl 5 one clause b sas) 53 58 e

Example:

- All of the following sentences consist of just one clause.

- It does not matter how long a simple sentence is.

- Sentence 'c' is still a simple sentence because it contains
just one predicate, therefore one clause.

- - Notice also that a sentence can contain more than one
clause:

- A- John left.

- B- These boys like football.

- C- The first-year students in our department
should

read a lot of books at this stage in the year.
2 o Al Aaad) Jsh, B 58,88 o (g giad Jaad) U
(ks 2l s o 1 (o s ¥ Y Aoy Alaa 015 Y ¢ Alead
one clause

Example:

'| tried to reserve a room, but the hotel was booked'

- The above sentence has two clauses:

- One based around the construction ‘tried to reserve’
- The other around ‘was booked’.

SN s ) saati (YT el
ds oY s'tried to reserve’
‘was booked’

FINITENESS

- As mentioned above, a sentence typically has at least one clause.
- Traditionally, we say that a clause is made up of a subject (the
performer of the verb’s action) and a predicate (the verb and its

objects).

- The simple sentences in ‘A, B and C” above stand alone: they
aren’t attached to any other clauses, and are therefore called

INDEPENDENT CLAUSES/SENTENCES.

- In English, and typically in other languages, an independent

clause must contain.

sale alaall S i el o il K3 WS
one saal g3 ya J8Y e el
clause .

clause s_&ll o)) J & o egalss J<o
a5t e 54 subject )deld e ST
predicate ) nall s( Jzdll 5l Jaalls

(42 dsxiall 5 J=all

GGl A sale 5 iy pulai¥l Aall 4

a e (g5l O ang Al 338 (gAY
FINITE verb




FINITE verbs:

have tense and/or person and number inflections.

- That is, they are marked for ‘tense’ information and
agreeing in ‘person’ and ‘number’ with the subject

g Jome) a3l il ) o FINITE verbs ;83 sasall a3l il JladY!
—iaaie Ypalad) gl(& 8 ke ¢ il canl g Jaaadl S/ 5( &) ol

(&G ) AU Gania o J gl

e Jeldll (381 gy (g 31 (e o slae 48 jae Aland 5o Cayad JLadY) 038 13g1 5
A8 Y 5 (alasy)

- Example:
He plays the guitar.

- The verb ‘play-s’is EINITE.
asS you play the guitar (S8 Sasiall ) AN Eaaial U e ol

13 you played the guitar o5 alell (a3l U e gy s Jadl) el

finiteas¥! 3¢ play Jxdl) Je 3l

NON-FINITE verbs
- are NOT marked for tense, agreement or any
other grammatical categories associated with the
FINITE verbs.

il ya gl 4881 ga 5l e 3 o sk e el Y JladY) s2a

FINITE verbss saaall Judil ddasi yall 4 5ail

- A verb form that does not indicate person or
3l 5l (aladdl s jlal gl ey ¥ dadl JSanumber

- NON-FINITE verbs include:

(A) infinitives (the bare verb stem with no inflections
such as the verbs coming after:

'to, must, should, and other modals:
(e.g. to play, must play, etc.)
JU 8 Jued¥) Jie il 30 61 e stem Jle dedll jedar Haadl daaA

(B) participles: verbs after ‘have, has, had’ (e.g. has
played, have played, had played)

B ~ Jeldll — participles J=&ll x: ‘have, has, had’

(C) gerunds: V +ing (e.g. like playing). Examples:
C sl jaadls Jaall + — ing

1- John left.
‘left’is a FINITE verb
cald J241) 1aaWhy: it tells us the tense of the sentence
Alaall 8 el e LAl Y

2- These boys like football.
‘like’is a FINITE verb
Why: it tells us the tense of the sentence, and agrees
in number and person with the subject ‘these boys’.
aanll (38 55 Alaall 8 (e 30 e U pud) 0¥ Lyl caiigld Jedll 1a
‘these boys'dell & jalaly)

3- The first-year students in our department should

read a lot of books at this stage in the year.

‘should’ is a FINITE verb

<uils J=dll 1aaWhy: it tells us the tense of the sentence.
Aaall a3l e Ll Y

4- Her friend speaks many languages.
oo L) sy s Jxdll 13a ‘speaks’is a FINITE verb
Alaall 8 el

5- you have never understood it
-The FINITE verb is: ‘have’

- Why: it tells us the tense of the sentence, and agrees in number and person with the subject ‘you’.
‘you'dell) b (alailV) g sasll 38 55 Alaall 8 o3l e Upa) 0¥ Liay) csipld Jadl) 128
- The NON-FINITE verb is: ‘understood’ ob <iilé ‘understood’ Jadll

- Why: it is a participle a participle «Y

- Some constructions contain one FINITE verb with a NON-FINITE verb.

Uar Sl et one FINITE verb s NON-FINITE verb
Example:

| tried to reserve a room.

-The FINITE verb is: ‘tried’

- Why: it tells us the tense of the sentence

- The NON-FINITE verb is: ‘reserve’

- Why: it is an infinitive ( a verb used after ‘t0’) infinitive s¢é To oY J=dll ) aa

- These are counted as part of the same clause




- A FINITE verb can be either a MAIN verb or an AUXILIARY verb:
A- John left.
B- These boys like football.

C- The first-year students in our department should read a lot of books at this stage in

the vear.

el Jab gl oty Jad (55S0 of Wl clause . A FINITE verb @38l (uéi (e ¢ 3aS Caudiag ¢ 5all 13a
- In A and B, the FINITE verbs are MAIN verbs (left and like), but in C the FINITE verb is an

AUXILIARY (should).

Jai 8 FINITE verb I C Jadl & oSl ¢ Ylikeand left( 4wy Jxdl La FINITE verbs 3 A and B Judll &

- Notice that an auxiliary always co-occurs with a main verb as in C: auxiliary
'should’ co-occurs with the main verb 'read'.

ot ) Jad 2 20 Lailo e Lual) Jrdll ) B Y
- Consider also the following examples:
1- These boys like football 2- These boys don't like football.
- The FINITE verb in 1 is the main verb 'like’
- Butin 2 it is the Aux. (don't), which co-occurs with the main verb 'like'.
- As the examples above illustrate, in English only one verb in any clause can
be FINITE. When we have a sequence of verbs in English, the FINITE verb
always occurs first in the sequence:
Example:
The students may have been studying late.
- Even where there are three auxiliary verbs (may have been), the first, and
only the first, is FINITE.

(b Jadh aal g Jad il 4 5alasy) 450
058 o) oK clause 3 sl
iy Ll ()5S L FINITE .
Sl & las) 4Gl 8 JladY)

Js) & 0sS WIFINITE verb

J s S dad gl g, i
FINITE verb

AW e (g giad dlaal) culS o) As
Slad g oV Jadl) ¢ 0 Bac L Jladl
FINITE 2 Jg¥

Practice: FINITENESS
Identify the FINITE /NON-FINITE verbs in the following:

- We shall see him tomorrow

- John watched the movie

- John wanted to watch the movie.

- John must have watched the movie. .

FINITE tense

FINITE /NON-FINITE

FINITE /NON-FINITE tense — infinite

FINITE /NON-FINITE tense — infinite

- She told him that they were studying at home. FINITE /NON-FINITE tense-ing

- Samuel likes tea, but Amy doesn’t.

FINITE /NON-FINITE__




